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General Instructions : ,
ons which are divided into three

(i) This question-paper consists of 30 questi
Sections : 'A' (Physics), 'B' (Chemistry) and 'C’ (Life Science).

(ii) All questions are compulsory.

(iti) Marks for each question are indicated against it.
(iv) ould be precise and to the point. according to the marks.

Your answer sh
Answer the multiple choice questions by selecting correct option.

ce has been provided in all long answer type questions (Question

(v) Internal choi
marks. You have to attempt only one of the given

Nos. 11, 21 & 30) of 5
choice in such questions.
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SECTION-A
(s form)

(PHYSICS)
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Inertia is the property of a body by virtue of which, it cannot change b
. ge by itself :

(A) Its direction of motion
(B) lts steady state of uniform motion '

(C) Its state of rest

(D) Allof these-
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The question below consists of two statements : :

Ass-ertion (A) and Reason (R), answer the question by selecting the appropriate
option given below : ‘

Assertion (A) : The cork floats while nail sinks in the water.

Reason (R) : This happens because of the difference in their densities.

(A) Both A and R are true and R is the correct explanation of A.

(B) Both A and R are true and R is not the correct explanation of A.

(C) A is true but R is false.

(D) A is false but R is true.
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(A) 98 kg | (B) 9.8 kg C

(C) 10kg, (D) 98N

Mass of an .object is 10 kg. What is its weight on the earth ?

(A) 98 kg (B) 9.8 kg

©) 10kg (D) 98N
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Which form of energy docs the flowing water possess ?

(A) Poten1§ial energy (B) Kinetic energy

(C) Electrical energy | (D) Gravitational energy
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The sound which is produced due to a mixture of seve ies i
Bl iy g el s e and is pleasant to listen. SRS Auenaics 1 eallct
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"A racing car has a uniform acceleratj 1972 ; 2
A T ond after start ? lon of 4 ms™. What distance will it cover
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Define average speed. Write its formula.
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Define acceleration. Write its formula.
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Distinguish between loudness and intensity of sound.
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Why do you fall in the forward direction, when a moving
and fall backwards, when it accelerates from rest ?
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Define the following with unit :

(i) Potential energy

bus brakes to stop

(ii) Power
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.Calculate the work required to be done to stop a car 1500 kg moving at a
velocity of 60 km/h. ' -
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How does the force of gravitation between two objects change when the
distance between them is reduced to half ?

(b) W%WW%WWW: 5

Write the three importance of Universal Law of Gravitation.
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Why is. it difficult to hold a school bag havin t
strong string ? & g a strap made of a thin and
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. When the liquid is spun rapidly,
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A ball thrown up vertically returns to the thrower after
(1) The velocity with which it was thrown up.
(??) The maximum height it reaches.
(111) Its position after 4 second.
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SECTION-B
(varae faem)
(CHEMISTRY)

6 second. Find :
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the atmospheric

The temperature at which a solid melts to become a liquid at
pressure is called its ......ccooven. . ’
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the denser particles are forced to the bottom

t the top. This principle is used in :

and the lighter particles stay a
e ' (B) Chromatography

(A) Evaporation

(Cy Centrifugation (D) Fractional distillation

et A ﬁg—m it ftad & 7 . I
A) o/ H ArErRer FHE H gl (B) HEGT @l Th SEREI

gc% S I SIART qrod AN (D) SR Tt \

Which of the following is physical changes ?
(A) Dissolving common salt in water, (B) Melting of butter in a pan.

(C) Boiling of water to form 'steam. (D) All of these
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. Write chemical formula of Carbon tetrachloride.
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(a) 2 B 8 TS 1
(C) 10 4 (D) 18 . '
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(6)
| be the total number of

If Kand L shells of an atom are full, then what woulc

electrons in the atom ?
(A) 2 (B) 8
(€) 10 (D) 18
2
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Write two differences between mi
18. Wﬁ%ﬁﬁaﬁ%?wﬁ%wwmw l
le of Isotop€s:

What do you mean by Isotopes ? Write one examp
374l
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f electrons in Nitrogen and Magnesiuml-

xture and compound.
2
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Write the distribution 0
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What will be the physical state of water at 25°C?
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1k faster from & saucer rather than a

.. (b)
Why are W€ able to sip hot tea or mi
cup ?
00. dE FHMA TETY & T BgBr(49.7.%)] qe [g;Br(so.s%)] 3 wq § 8 araHEd T
qzary & Sred T s @ O BT | 3 -
If bromine atom is available in the form of, say, two isotopes [gg Br(49.7 %)] and —
[gé ,Br(50.3%)] , calculate the average atomic mass of bromine atom. -
21. (&) ﬁﬂ%ﬁéﬁgﬁmnﬁsﬁaﬁﬁ%mw: . 5 -
(i) AL(SOa)s : =
(i) K250s 1
(i) CaCOs —
write down the names of compounds re -
formulac : presggted by the following - '
(i) AL(S04)3 ' ’
(i) K250 ’ _
(iii) CaCO;
(b) ‘ g a1 e & 7 3aever divm ' . o
What are polyatomic jons ? Give examples, 2» L
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Explain with examples :
(1) . Mass number
(11 Isobars
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If number of electrons in an atom is 8 and number of prdtons is also 8,

then :
(i) What is the atomic number of the atom ?

(i) What is the charge on the atom ?
qvs -q
SECTION-C
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(LIFE SCIENCE)
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Which organelle is known as the powerhouse of the cell ?
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Which tissue makes up the husk of coconut ?

(A) Parenchyma . (B) Collenchyma
(D) All of these

(C) Sclerenchyma
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Nervous tissue is made of .............. that receive and conduct impulses.
Ryforfe & @ vagE wEed | | |
A) T€ (B) W

(C) udEre (D) SWwT geft

}Which' of the following are finned fish ?
(B) Bhetki

(A)  Mullet o To AL,
(C) Pearlspots e (D) All of these
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Growing two or more crops in definite row patterns is KNOWN @s ..cooeeeee :

(A) Crop rotation (B) Inter- -cropping

(C) Mixed cropping \ (D) Mixed farming system
qumm@@wm%wwwmﬁ#wmﬁW@ 2

Write two common management practices of animal husbandary and poultry
farming.
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Why are Lysosomes known as 'suicide bags'? .
o T SR B ARG R S | 3
Draw a well labelled diagram of a plant cell.
gar
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Write three differences between plant cell and animal cell. ‘ |
(a) T IR & T FAEeRT SR S fefor 2 & 7 T T T 2

How many types of elements together makeup the xylem tissue '9 Name
them.

(b) TR I & 7w f[RaT

Write three functions of Areaoler tissue. 3
YT
| OR
(a) A @ B R )
' Draw a well la.belled diagram of néliroﬁ. % gl | i
(b) &9 Ul & T T forc
Write three'feature‘s of cardiac muscles " i . 3
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